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Mona took a survey of the number
of times her classmates went to
the cinema this month. The results
are shown in the line plot below.
Which of the following statement
is correct?
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15. JL 16. PR
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21. XY =1, YZ=4¢ XZ =83

22, XY=6b, YZ=8b XZ=175

23. XY =7a, YZ="5a, XZ= 6a + 24

24, XY=1d YZ=9d— 2, XZ=5d + 28

25. XY=4n+3,YZ=2n—-7,XZ= 22

26. XY=3a—4, YZ=6a+ 2 XZ=>5a+ 22

Llae deciiwe)) pdad! (se 795 JS OIS 13 Lo 3u>
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a) 7% ) 7%
1 3
? %3 s F'L.GT\"“}““Q.#
- R
a)10 c)4
bl15 d) 19 a 10 = 3x+7 =
| 19 =3 :




9 Lghaudais £V iljlgia Sladl jolss e CBpadll 15 to 20 800

«k i e < L * . - a
N> -1 g Ja 9.9 EE g S S N —

15. a+7
X
2b
b+ 11
4
w 4a
17.
s
18. B+5
a+15 ST
S
b 1! W
19. £ 20. K




Scissor lifts are variable elevation Biamiia Jus Sleaie oA dadla Slab
work platforms. One is shown o AN B daagae ladaa) L Sile LGN
below, in the diagram, ABCD is Bl (Sste 98 ABCD . Jadaish an
a parallelogram. MLA s e B = 125 5l eal

Suppose moeB = 1257, find - A

mesA = 35°

mesA = 55°

meA = 125°

WL A = 457

L)

A Scissor lifts is shown below, in the sl B JALSN B daia e dpealia dad),

diagram, ABCD s a parallelogram. ERel Flsia 8 ABCD |\ Jadeil)
Suppose AR = 8m, and BC = 9m BC = 9mj .AB = 8m 2l _aah
find AD. AD asyl

AD = 9m o
AD = 10m o
AD = 8m O

AD = 8.5m o
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Find the value of ¥ 3o that the

@Sl SSRGS ey X Aad agyl

quadrilateral is a parallelogram, gl e
e
4x — 4 3x 47
.
" xw=3 o
1 x = 1 o
v xem 11 (@
W x =40 o
Find the value of y so that the S JEE G Suay Y A aayl
quadrilateral is a parallelogram. Ehal giia
- *
(2y +20)
(4y — 80),
Lk
“ y=120 o
b. y=50 O
y =20 O
4 y=30 o
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Find the value of y In the RN e A Y A aay)
parallelogram.

- y__:_ o
VW y=3 o
yo= 13 o
“ y_; o
Find the value of x in the ingal) BN Hlghe A X Aah anyl

parallelogram shown,
S
x-’;?o
“ xm=18 o
W ox=§ o
x=2 (@)

I x=38 o
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S X
A
. A Q-1
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FCyx 8 AB=14 15 13) .7

11 BAC 55 . mZBCD = 54 15 13) .8

ACs o3 PC=x+9 3 AP=3x—1,l513) .9

PDs 53 PB=2x-9,DB=2x-4 513 .10

MLDAB s s . mZBCD = 2x + 3 s mZABC = 2x ~ 7 415 13) (1)
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A 30 Cc <20
B 60 D 120
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AR - 14 finad BC, BC = AR = 14 s 12
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Quadrilateral JKILM is a rhombus,
find msKLM, it msLJK = 40°.
J

msKILM = 507

meKLM = 40°

mceKLM = 807

mKLM = 1007

2o iOmma 58 JKLM sl 2
msLJK = 40° oS b)) v KLM

K

JKLM is a rhombus.
fCK =3 and JK = 5, find JC.
J

jc=4
JjC =4.5
jc =3

JC =6.4

O 5 Sjlus JKLM
JC€C 54 JK =5 3 CK = 3 2i\s\3

K




12 il bkl il gie S § Loy clgliadly Bymiall duds pailas s byl 8to23 836,837

o Lo US obd o

J K
8 msK b ol 4 8
‘\ R
6 6
0 \ .
M ! 7 8
XZ = 18 oS 1)y .PW @ KP = 4 ,is13) JL 10
PY= 3 9 K PM - 79

AN <\

[ /

W M

PR RV u.sb,." JEL LS !Mh@.’ia.’i‘uy-n agy A u.shJJ.Lu P Ll Adlis) dwdia
e bad ! G,l.u.u B s dud S LS 13) Lo 2dg By

12. A(-2,5), B(-3,1), C(6, 1), D(3, 5) 13. J(-4, -6), K(6, 2), L(1, 3), M(-4, 1)
14. Q(2,5), R(-2,1), S(-1, =6), T(9, 4) 15. W(-5, —1), X(-2, 2), Y3, 1), Z(5, —3)
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If WXYZ is trapezoid, At Ak WXYZ IS5
and XY = 15, WX = 5, find WZ. WX =5 3 XY = 15 1S,
WZ 2l
w X
55 55
b Y
WZ =10 (®)
WZ =75 o
wZzZ =15 (@)
WZ =13 @)
¥ WXYZ is trapezoid, find m«Z. (ihyaia s WXYZ olS 13
s Z gl
w X

mzZ = 35°
msZ = 65°
meZ = 55°

msZ = 125°
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T 18 3
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If ABCD is a kite, find m<B. cdgd s 5utda (K5 o2 Se ABCD oISV
msB 2l
A
3_ 720G
D <8s5° B
c
msB = 120° o
m«B = 95° o
msB = 85° (®]
msB = 60° (®]

If ABCD is a kite, and mzsD = 60°, &5 53 (<& o2 5ue ABCD (s )3

msB = 100°, find mzA. amsB = 100° s msD = 60° =slss
MmLA m‘
A
D B
[ &
= mszA = 60° (@]
msA = 100° (@]
- mzA = 80° (@)

msA = 120° (@)
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79 to 86

B61

79. A =1{63, 72, 51, 44}

80. B=1{10, 11, 12, . ..

86. H= 0

cdcgemo S s S sua)l 4 >

, 20}

() o i x|x} =D .82

{z} = E .83

{z.).g.&u}=F 84

{cJls sae X9 N ) o x[x} = G .85
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C={x|]xEN ;1 <x<16}
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a} :
15
b.
1
C.
16
d.
Find the cardinal number of the set e ganall uii ) ssall dagl
A={151719,..,30} A={15,17,19,..,30}
a 7 O
v 8 9]
c 4, 0
4 6 o)
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P
2}

Find the cardinal number of the set e ganall (i)l 2aadl 2ol
B ={x]x € Nand 15 < x < 20} B ={x|lxe Nand 15 < x < 20}
4 O
5 O
7 O
6 O

cardinal number of the set [2 4 6). 12.4,6) Ao ganall ai) sl 2ayl
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Jout i 4
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A’ FPOR |

={v, w, x vy, z} A= {v, x}

3 gsa
3J5.,J1U_9Venngah.|n~,,h.
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12. # 14. D
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A=1{2,3,5,78} Find 4",
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- A'={1,4,6}
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A' = (4,6}

LetU={1,2,3,4,5,6,7,89) and U={123456789)

A={1,35) Find A" A s A=1(1,35)y
A =(2,4,6) 0
A'={1,9) 0
A'=(2,4,6,7,8,9) 0]

4'=(24) ()

A' 4. A=1{2,3,57,8)y
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